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i AG =0.90 kcal/mol ) AG =0.13 keal/mol | AG = 1.01 kcal/mol AG =0.70 kcal/mol AG =0.20 kcal/mol | { AG =0.72 keal/mol ¢
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AG =-0.10 kcal/mol L AG =0.76 kcal/mol 4 AG = 1.16 kcal/mol AG =-0.08 kcal/mol AG =0.38 kcal/mol ‘5‘ AG =0.82 kcal/mol
Tm=61.8 °C ¢ Ay Tm=54.6 °C ! Tm=48.5°C Tm=60.9 °C Tm=55.3 °C Tm=48.2 °C
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AG =-0.11 kcal/mol ’ 10C101497351 3 ‘\ AG = 0.06 kcal/mol ! AG = 0.87 kcal/mol AG =0.31 kcal/mol 1 AG =1.35 kcal/mol
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AG = 0.55 kcal/mol ’ AG =0.51 kcal/mol AG = 1.07 kcal/mol AG =0.78 kcal/mol

Tm=54.6 °C L Tm=542°C Tm=39.4°C Tm=-6.9 °C




